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elimination on P to eliminate z;. P is the polygon decribed by
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We multiply the matrix out and obtain the following inequalities:
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The first thing to notice is that x; < 4, so we already have an upper bound for ;. We now proceed
to completely eliminate zjusing the above inequalities. That is, we’re looking for a lower bound and

upper bound for z; in terms of only 5.
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Next, we characterize proji(P). proji(P) is given by the projection of the polytope onto the xo axis

(then x; is 0). Now we solve all possible inequalities:
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Thus, we have proji (P) = {zs] 2 < 2o < 4}



